Moth 31A Section 2B Week O
Qsist'cs
TA: Rnsmond Chy
i B M- 2PM T eve
OF#ice hours© IIA vesdoé Or by appaintm

O#fice hours are an hour  where ytudents con come +o my office and ask any questions obout  the course or merth

Email * rchu @oothucloedy - Tndude "[31A1" in ewall sibect + will respond 1n 4% hours
Website | www.math.ucla.edy |~ rchy

Amn:)nms feedbock + suss&dm\s ot my website.

Will use discussion to quic\(\j review *opict thot are ueful For the week's
sub;‘ect then hove students worlkk an worksheet in breokout rosms of 4-S

people while T eicculate «hrougnowt the rooms helping seudents.

Tips +o do well in_edleog math  Read textbed befoce leatwre | T Understand dhe Pock’s examples % do extra unocssigped problem 11

Review'  Helpful +tricks and concepes for next week's topic oF Limits

Piecewise Function Given two  Functions  such ot 0= x & 3(‘x\'~= 'S [{\\g %m\:e\“"-" " means &#{hed)

we can " s\v\e" ihese  Functions to  Form  another one  such o
x if xs0 =
KoK= & if xve

5:)(
Graph oF W0
ve. o greph h we gue the goaphs oF £ L o atx=0.

End points of pieewise Functions

For
x i x<0 ) xi¥ x<o
0 & joo=
KO = & iR xve < if x>0
howe diffeent Functions ot che end Qoine (ot x=0  hov=x while atx=0 36323

but this doesn't matter for & L:) since  Fbo=x & s(x\ﬂ(‘ have #to\-—gl@‘-’o

S0 hc\(\ =j 0 For on:) X.

Tn opneral, the end  point maorters - -2 i® %<0 {-2 it x<O
Flx) = () = R
let 200 { 2% xz0 and 3)()( 2® xo

Flor=2+# ’5(03=—2
2O 2 F 9o

Abselute Value . There's a sma chance 5@,'\\ fove to deal wl obselute value inequaliees
We le+t -x% i$ x20 g=-x Y= *
2001z g =
xif x>0
Exomple) Find ¢ such thot 1153

Geomebﬂcq\l:) we  wont i

the x that live in the purple box
Bue as  1B1=3 & -3V7 - (3=

this s +he ceaion -3 x¢3

To  genecdd the  re ojon X140 (s x such that -a¢xsq




Example)  Find

®  sudh that

w3 <5
Teiek: Let Y= x-3 then it is
\3\55 Le.
-55355
we. -5¢%x-355

Le.-SB ¢ x-3+3 ¢ 543
ce. 2¢xz%®

Z-16
Exawmple) A= Tx-w

Eactoring Semetimes we can simplidy  rotional  Functions by Factoring

Note  OC ) (x4) = &+ Ux-tx-16
L _~

=<-\6
b e oD oy
L vt (x-4) -

o x4 =

X+

T will be justehied
next week wl Limits

OO = x  \Jhich s alot Simpler than

-6
%
This simpliFication con hel

solve alot 62 Limit  prodems

Raeionq\\zigg the Denominator  Con also be used 4o Smplify expressions with X' on pumeratol er denamnatar

& -1
Exowple ) P0= x-1

Note i# we hoave +the expression [X'+a then
Taking a=-1 gves (F-OMRM= x-@¥= x-1

P
we hove (JX +0) (JX-0a) 7 x-ol¥ +al¥ - &" = x-
== _~
Jx -a
The trick is to multiply by Za =l v ger

2
a

& -1 o=+ L’f’ x-1
x-1 ° *-1i

LI 4\

Cx-2) (R +1D
?

- %L -
(x-1) R+
a

W+
This trick wil) be wed) For Qimit problems




